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COMPUTER SCIENCE
COMPUTER APPLICATION
INFORMATION TECHNOLOGY
(Regular Elective)

Answer the Questions from any one Option.
OPTION-A

; { Programming in Java)
Paper : CSC-RE-6016 / TCA-RE-6016 / TIT- RE 6016
OPTION -B
: { Computer Networks ) ‘
Paper : CSC-RE-6026 / TCA-RE-6026 / TIT-RE-6026
] OPTION-C
{ Mobile Applications)
Paper : CSC-RE-6036
( Software Engineering)
Paper : TCA-RE-6036 / TIT-RE-6036
OPTION-D
( E-Commerce Technologies)
Paper : CSC-RE-6046 / TCA-RE-6046
( Operating Systems) :
Paper : TIT-RE-6046
Full Marks : 60
Time : Three hours

. The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION - A -' '
( Progra g et SR - (d) The new keyword is used to create an -
Paper : CSC R'Frgolﬁmmmg g oal object. (State true or false)
R / TCA-RE- L - . - "
; : : : 6016 / TIT-RE-6016 g+ object o FRACT new keyword
. Answer the fi : o '"4';21513 4 = - (@ il :
the following questions as directed : (e) i@ al tli. jtﬁh t'. TET"”;
‘ e} . isaspecialmeino at is used
3 ‘ b 1 X7=7 AR . s gy *
T _ . s s ; to initialize objects. | (Fill in the blank)
e ‘ el 8 Ll o8 method F! object I
ull form of JDKis . et T e FReE TR
(Fill in the blank) ‘ ‘. gaAr A
JDK J 775 sy (f) String objects cannot be changed once
— | e ‘created. (State true or false)
o (’W??h? 799 F) sl String object @ﬁmﬁwﬁr@ﬂaﬁaﬁa
(b) All- classes in Java are inherited from : .C&'@Tﬁi il ﬁ@’@ﬁ Z?WT) -
object class. (Stat ‘ (g) The finally block always executes.
- e Gueonidlse) ' (State true or false)
ava § W 1 - ; ;
inherit 5| class object class 9 #«1 Finally block R execute T G
_ (o7 7 G o) ' ' (9% (7 GG )
gl The : @ i
| data type is used to store only 0. Define the following terms : 2x4=8
two possible values : true or f: :
: alse. el forall 8
@- , (Fill in the blank) | (a) Polymorphism
7 Al Sy i T e 4 s (b) Type casting
RISEGE R el (iff;?;;?? o {c) Abstract class
vl ; 5 Cell (d) Interface
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‘3. Answer any three of the following questlons
5><3 1 5

‘ ﬁza’srmzcﬁﬁ‘rw_' ersfa T o741 ¢
(a) Write any five features of Java.

Java 3 Rz 55! (@R 3 = |

(b) Write in brief about class, object,
abstractlon encapsulation and
inheritance.

Class, object, abstraction, encapsulation
. % inheritance 9 53 91 i |

(c) What is constructor ? Write any three

rules defined for constructor. 2H32D ;

~ Constructor f#? Constructor ¥ fRicpicn
fofG! s forll |

(d) Write in brief about the access modifiers
— public, private, protected and default.

Public, private, protected W< default '

access modifier 9 & E?Rﬁs ferat |

(¢) Write a program to print sum and
products of an integer.

5T o TR dlglt (I (I A ST
2/ fR<0eT 9ol 2lali fordi |
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4.

Answer any three of the following qu uestions:
10x3=30

figaean fofan! eris Te ol ¢

(a) Write a brief deséri'ptib,_n of basic
datatypes used in Java. :
Java © JREE (¥ efizs data type @T@
o3 3efal |

(b) Differentiate  between method

overloading and method overrldmg Give
example.

Method overloading s method
overriding € sfiefraid ol | @Wlﬁq .

(c) Write a brief description of any five string
' _class methods

String class—? Rl 9)7557 method-< b‘{
el | '

(d) Write a Java program to find transpose
of a given matrix.

@Bl matrix-9 transpose SETARC Java SR
GEIN
(e) What are different types of exceptions 7

Grive a brief description of keywords used
to handle exception.
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e 2w exception @H e Exception
GiEmEs) SR T (TR keyword @ﬁ? :
oy e o)

() Write a Java program to display a

OPTION-B
( Compufei‘ Networks)
Paper | CSC-RE-6026 / TCA-RE-6026 / TIT-RE-6026

rectangle and a mrcle i an applet 1 1. Answer the following questions: - 1x7=7
window, : ' (@) Give port number of POP and SMTP.
Applet window © @bl RS S bl J€ (b) What is NIC ?

w0 Bt Java gals T (c) What is UDP?

(d) What is bit rate ?

(e) Define TCP. .

s Define end to-end encryptlon
i@l Define gatevyay.

2. Answer the following questions: 2x4=8
(a) What is frame ? What is receiver ?
(b) Define computer networks.
(¢) What is bandwidth ? What is latency ?
(d) Why are protocols needed ?
d 3 Answer the following questions : (any three)
5x3=15
‘ (a) Describe pécket switching. Give
- example. ‘
(b) Differentiate between virtual circuit
network and circuit switching network.
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(c) Differentiate between full-duplex and
half duplex.

{d) Explain HDLC protocol.

fe) Write the advantages and dlsadvantages ]

of bus topology.
4. Answer the following questions: {any three)
' ' ; : 10x3=30

(a) Explain in detail about TCP/IP protocol
- suite with neat diagram.

{b) Explain in detail about periodic analog
and digital signals. -

(¢) Write a note on quadrature amplitude
modulation. Describe the quahty of
service.

_ .{d) Explain in detail about different phases
- of virtual circuit network.

(e} Describe MAC. Draw the diagram.
() Explain UDP. How does UDP work ?
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OPTION-C
( Mobile Applications)
Paper : CSC-RE-6036

Answer the followmg questlons as r:.:hrec:ted‘7
1x7=

waTe el eriaies: MR e ol ¢

(@) Which of the following is not an activity
lifecycle callback method ? :

e AT @T_(ﬁ? activity 11fecycle call :
back method 7 2 ?
(i) onClick { ) method
(i) onCreate () method
(iii) onStart () method
(iv) onBackPressed () method
(Choose the correct option)

(v Reweh! AR Csa)

() We cannot modify the VI from a

background thread.
(State true or false)

Background thread ¥ S VI & T
(it | (% (7 GG [e73])
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e

(@)

(e)

In delegation event model, an event is -
an that describes a state change
in source. - (Fill in the blank)
Delegation event model © event T <51
, ‘ G source ¥ state changes Zefeqt |
| (A DT R )

All_ layout classes are subclasses of
android.view.View Group.

(State true or false)

AFCEACFT - layout class - ¥’q
android.view.View Group-¥ subclass |

(9% 7 G5 7))

is the primary progr-ammiflg
language for i0S. (Fill in the blank)

10S9 E['QU CelENE ol 267 foee
(R 1Z 959 #9)

 Default value of the orientation atiribute

in linear layout is

Linear layout © orientation attribute-3

- oA Wi e

-(i). horizontal

(i) vertical :
(Choose the correct option)

(v [eEes! TR Teed)
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(g) JSON stands for (Fill in the blank)

JSONIfFAeat |
| (4T} 912 779 )

Define the following terms : 2x4=8
et ferdl ¢ '

(a) Thread

(b) GPS

(c) VI

(d) SQLite

3. Answer any three questions: = 5x3=15

firapze fofab! e Tes fordll 8
(@) Explain MVC.
MVC a7 <1 |

(b) Explain different types of sensors
supported by Android.

Android @ F9e T4 sensor (i< et ot |

(¢) Prepare a list of any five keywords of -
objective-C.

Objective-C © 9@ e 755 keyword=<
wiferas! 2w a4 |
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(d) What are the lifecycle methods of
Android activity ?

Andrmd activity-¥ 11fe cycle method (¥ |
e |

(e} When “do  we need RESTfﬁI
programming ?

. RESTful programming (O] SN 23 ¢ ﬁ
4. Answer any three of the following questlons
10380
wete [Tl e ﬁ?mm oy e o 2

b (@) Whatis HTTP ? Explain the functions of
different methods used in HTTP.

HTTP &2 HTTP © 94219 @4 BT method
(@ T |

(b) Explain any two VI components used in
mobile applications. ‘

Mobile application ©JR2T = ﬁ?rasm ffv‘f
VI Component—'% <<t |

fc) What are the advantages of using SQL].te
in mobile applications ?

Mobile appl’ication © SQLite J9E 9IS
Hfaicais o o2
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(d)

()
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Differentiate between &

offefas ferdl & _
(i) Android and 10S
(ii) Core graphics and Core animation.

Differentiate between :

sfiefay o7l ¢

(i) Cdcoa and Cocoa Touch

(i) Core data and SQLite
Write short notes on : (any two)
(i) Keychain o :

(i) JSON

(iii) Xcode IDE

. Contd.




Paper

OPTION - C

( Software Engineering) :
: TCA-RE-6036 / TIT-RE-6036

Answer the following questions as directed :

WW@WWW%’%’T

(@)

(b)

1x7=7

In software engineering, 'engineering

- principles are applied to design a
- software.

(State true or false)

Software engineering © engineering
NSRIR L $ software A 2 |
(%% (7 G895 7))

Which of the following document

contains user system requirements ?

- OeTe WAl SAAIT (TR ©UE IRLIFITT

system requirement (9 2
fi)": SRD
(i) DDD
(iii) SDD
(iv) SRS

(Choose the correct option)

(B Rewr a1 Ghear)
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1

J

|

()

(e)

(/)

} (Sem - b/ CHCS) CSC/TCA/TIT RE 1/2/3/4/G 15

The full form of SDLC is .
(Fill in the blank}

SDLC 9 ﬁcﬁwiﬂ B
: (wa?év%ww)

The full form of SPMP is
(lel in the blank) '

SPMP 3 ‘?ﬁ‘m"’f -1 ST
(afm’“‘r 212 739 91)

Frequent bhanges in requirements may
be a reason for technical risk.
(State true or false)

ATC TOIE TS WW technical risk
29 AR | (@%ﬁ@@@z%wr)_
By whom is unit testing done ?

(I unit testing FE2

(i) Customer

(ii)  Developer

(iii) None
(Choose the correct option)
L (wm R AR Oed)
Contd.




(g} COCOMO is a cost estlmdtmn model.
(State true or false)

COCOMO =& 435 S 541 wiifE |
(9% (=« T&5 fa3)-
Define the following terms : 2x4=8
e feil 8

{a) Prototyping model
(b} Function point
{c} Software risk

{d) DR
Answer any three questions : 5x3=15
Rigpizart folat1q ©ed o1l 3
(a) Briefly explain waterfall model.
Waterfall model b“g?i‘fﬂf |
(b) What are the components of SRS ?
SRS 3 SR 7

(c) What are the goals of software project
management ?

Software project LA T (2
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(d) Write a brief description of Délphi cost
estimation.
Delphi cost estimation 3 5% 3! frat|

(e) Define cohesion and coupling.

Cohesion SI% coupling 3 7iges &1 |

Answer any three questions : 10x3=30

fogaiza o5t e e B ¢

(a) Explain software development life cycle
model. ‘
Software development life cycle’mbdcl '
SR

(b) Explain different ways of requirement .
gathering process. ;
Requirement 22 &S ffon 2aIERe
ajtapi | |

(c) Describe the organization of SPMP

document.

SPMP G e SicEival < |
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(d} What are different kinds of risks in

(e)

~ Differentiate between :

software development ? Explain. .

Software development © fen &< risk
(@R e e 1

56210
AN el ¢ '
(i). - Synchronous and async‘hronou‘s
DFD i

(i) Black box testing and White box
testing -

Describe various attr1butes of software
quality.

Software @9 ffeq k@f‘\@]ﬁﬁﬁﬁﬁ |
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OPTION - D

( E-Commerce Technologies )

Paper : CSC-RE-6046 | TCA-RE-6046

1x7=7

Answer the fqllowing questions :
oo frl W'@@ faa 3
(@) Write the full form of http.
http = F=5ief AN &7
(b) What is G2B?
G2B ¢ _
(c) What 'doés ‘mil’ signify ?
“mil’ (@ & e
(d)  Define virus.
wig<5T Ael |
(e) Whé‘t language is used= to create
webpage ?
(@ACAT TR TR ﬁf EEIEREER Tk
() Mention any one type of electronic

payment system.

Rz <) tagten ARe Wwﬁtﬂﬁf
z4l |
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{g) Mention one popularly used web

browser.

@51 TfeE web browser-3 W% S 34 |
2. Ai‘lswcl_' the following quesfions : 2x4~8
wete fa e Ses il ¢ ‘
(a) What do you mean by www ?
 www SR B
(b) What is threat in E-commerce ?
s E-commerce © threat &5 ?

(c) What is electronic fund transfer ?
h"{fi@:_-l sfier 2wies o 2 -

(d) What is DES?
DES f& ¢

3. Write short notes on the following :.(ar_ty
three) -5%x3=15

| e i T e fored 5 (ﬁmﬁf%ﬁﬁa}
(a) Scope of E-commerce

36 1 AR
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(b) Domain name

B (R

(¢) Secret key cryptography

* fogws & v
(d) EDI model

EDI =ifE
(e) Digital signature
Gfercsat A=+
4, Answer the followigg questiéns ‘ (ar;% :g:?;))

o il e B fim 8 (Reiz oD

(c)

(b)

(c)

§ (e - 6/ CINCSH) CHC/TCA/TIT RE1/2(3/4/G 2L

Briefly discuss the technical components
of E-commerce.

E%WW_W&WWWW‘

Briefly discuss the C2B, B2B and B2C
models of E-commerce.

% 46 CoB, B2B Wi B2C TR bI0E
iGN <F | ;

What is privacy on internet ? Briefly
discuss about computer crime.

i Contd.




(@)

(e

TS Cﬂ“f‘?{fﬂ‘ﬂ—f ﬁw PSR o
T SYCS S| 3 | '

Bneﬂy discuss the advantages of online :
shopping ? Discuss- the E- eycle of =

internet marketing.

SRR BRI TRAHZ B SRl T |
IR MFhE E-cycle W 9 |

DlSCUSS about the planning of E-
commerce. What are the strategies for
development of E-commerce websites ?

- BT AR TR D 9 | B

CTRIES TR e o R (P e 3
2 ‘

" Briefly discuss diffe-}ent types of

electronic payment system. Mention the
role of paperless bill.

o wwe gl AR Ws@s
AN 31| o=, R gt Soared i |
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OPTION-D

( Operating Systems)

Paper : TIT-RE-6046

Answer the following ‘questions as directed :

wee ﬁw o Ted T

(@)

(b)

(d)
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- space A2 FE |

1x7=7

<4 . is the system call to create

a new process in POSIX.
(Fill in the blank)

gien ?KQE reuRTRaE__ system call
ol (3T} 912 779 P91

Each process has 1ts own address space.
(State true or false)

ﬁm‘@ 51 el address space QT |
(o7 (7 9% &)

All the threads in a process share a |

common address space.
(State true or false)

kﬂﬁT AL W thread 9 ﬂﬁ"‘ﬁﬂ address
(% 7 ST ffﬁ’?ﬁ')

First Come First Serve scheduling is

~ primarily used for interactive systems.:

(State true or false)

Contd.




()

(9

RIS

@R A SR A |

Interactive system © 49T First Come

First Serve scheduling 392 27 |

(9% (7 w5 f75))

Sometimes segmentation and paging are

combined to provide a two-dimensional
“virtual memory.

(State true or false)

(FroANl segmentation W paging GTRT
I two-dimensional virtual memory &7

Degree of multi-programming is less in
fixed partitioning system.
(State true or false)

Fixed partioning system © multi-

programming 9 V@ 9 g7 |

command is used to change the
access permissions and the special mode
(Fill in the blank)
L oo R R WEeR access

permissions W% the special mode flag

fl_ag_s of file.

3 (Semm-6/CBCS) CSC/TCA/TIT RE1/2/3/4/G 24

(¥% (7 w9 [79) |

(9% (7 o5 l?f?/f) |

(7] 312 =79 31)

Define the following terms :

2x4=8

wees) foral 8

(@)
(b)
(c)
()

Multiprogramming
Thread
System call

Paging

Answer any three of the following

guestions :

5x3=15

firaeizar fofbr e Tes fordl ¢

()

(b)

(d)
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What are diffe‘rent types of ope;ating
system ? Give brief introduction of each.

2w eres Sl s & o 2 2reree
] el | ‘
What are the basic functions of an
operating system ? ;

wmﬁa%mcﬁﬁﬁﬁw%%?

Give brief ‘desc_ription of any two system
calls. o :

e 7o system call oy fKawel fr |

What is virtual memory ? What are the
advantages of virtual memory P

Virtual memory fo 2 T RAER = foe

Contd.




(e) Write a shell script to display the (d) Write a shell script to merge the contents
of three files, sort the contents and then

multiplication table of any number. : ‘
display them page by page.

R Fea GRRNICEY erw*f:: faqte o1

Rofeibl iTeTe O TG FREACET @bl shell
shell script Gl . ; )
| script &7l Sl #fr {9t e < |
_ 4.. Answer any three of the following questmn% (e) Brieﬂy explain memory allocation
: ~10%x3=30 strategies. | :
Ficeicat fefn o T i & : e : Memory allocation (FTETEE 6] 1 |
{a) Define process and thread. What is the (/) Explain the difference between internal
advantage of implementing threads in fragmentation and external
user space ? What is the disadvantage ? fragmentation. Which one occurs in
| | ' aging systems ?
Process ™% thread g uges! 74l | User space e : S :
 thread TN T AR 2 gﬁﬁ&ﬁ e Internal fragmentation < exterljlgl
; fnhe - ' ~ fragmentation-< ALFIEIS ﬁ_‘ﬁﬁw | Paging
(b) Briefly explain any two non-preemptive system © (A T ?
'scheduling algorithm. ! ‘ i :

RIitPIc %51 non-preemptive scheduling
-algorithm-9 53] I 41 |

(c) Wfite a shell script to accept a login
name. If _nbt a valid login name display |
- message—Invalid login name’.

Login name &i28 SR 96! shell script -

&1l | login name (3% ?ITACF{ Invalid logxn
name’ S| 2N T4 | i
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